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Calculate y' for each of the following. Do not simplify.

1. y=(x*-3x2+5)°

y'- 3 (x! n-rox’wﬂ%(%x‘—(ox)

2.y =2xVvx?+1 S ,
\{'-.- (axB‘f‘g(x"-u) (a%) + (x"“_n) (&)

3. y = sinx

= 3x—tanx

. (Bx - tamx)((Cosx) - SinX
(3x - +anx) ©
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4. y = sec (7 — 2x) |
y': Sec(7—&x)4an(7-9X) (—i)



Calculate y' for each of the following.

5. 4xy = cosy \
Yxy' sy ) == sy
Hy = —Ll'x-\"-b\ﬂ\f“/‘
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7. The position function of a particle is given by s = t3 — 3.5t% + 2t fort =2 0.

\\‘ =

a.) Find the velocity attime t.

\/: 511_-7} -

b.} Find the acceleration at time £,

0= b -1

c.) When is the particle at rest?

V=20
D =347 74+

O = (34V) (48 2 )

34-\=z0 A =27 O
7Q’ = ‘,3 4 :@
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8. Sketch a graph of a velocity function whose particle will be speeding up

between 3 <t < 4, but slowing down between 1 < t £ 3. Many answers are
possible. <oy dawn L G ccelenbhon and ve [oc uh/ ave oppos e 5.‘(1‘”&
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9. Sodium chlorate crystals are easy to grow in the shape of cubes by allowing a
solution of water and sodium chlorate to evaporate slowly. If IV is the volume of

r d .
such a cube with side length x, calculate E% when x = 3 mm and explain its

meaning. 3
8 \ =X 3

5 .
. - =27 mm
% = 27 [x=3 3(2) ~ M
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10. A paper cup has the shape of a cone where the height is always three times

the radius of the cup. If water is poured into the cup at a rate of 2 cubic cm/sec,

how fast is the water level rising when the water is 5 cm deep? The volume of a
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